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N = 0l & At & M A

SN A

2 NSMNLAS(2ELNGMNLE/NISL A

Eelr A7 2 XNGAY (&)

SN EH - (EH) - HRAY - BES 0l & p/E-T Hl D2
SAMH 627,182 592,182 35,000
NENLAML(RELRGNL/XNAL T Al 442,560 407,560 35,000
22 XNGAS 442,560 407,560 35,000
FOEHAALY 442,560 407,560 35,000
401 Al HIZ 2018 442,560 407,560 35,000
01 A& HI 440,000 405,000 35,000

O M &II0tE g2 22 EX3SA

5,000,000 14! 35,000 0 35,000




N & 0l & AF S & M M
2N 280
o 2RO AT (LHBIHT /LA T)

Sl YN BES EERED
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
280 586,904 606,311 £19,407
ZEO AYTH (L STUT /L) 121,663 141,070 ~19,407

HHN R 25 105,444 117,464 A12,020
=013 0 X 14,184 26,204 A12,020
201 Yot Fh| 4,200 8,360 A4,160

01 Ak 22l 4,200 8,360 £4,160
oYtz 0 1,000 A1,000
—LAFUNIANE At XY ANE 0 0 1,000 A1,000
OYur S| 0 3,160 ~3,160
~FURNKAAS T2IY BALY o0 0 1,400 A1,400
— FURNKANE CHDY BALY 0 0 1,760 A1,760
206 T & 0 380 £380
01 T2 HI 0 380 2380
OFUNXME ZT2I8 29 W2
20,0002 20 400 £.380
301 YPB A 0 1,305 ~1,305
09 #HALAHIXI& 3 0 1,305 A1,305
ORHAMEN H&T By 100,000%! 100 1,000 A900
ORLFUNIARS Het B4 45,0008 45 450 A405
307 BI2+0I & 3,000 9,175 £6,175
04 I AAIR B T 0 6,175 ~6,175
o8 MSHs 325,0009! 325 6,500 ~6,175
AL 16,219 23,606 ~7,387
280 252 29 0 7,387 A7,387
101 2121l 0 4,623 £4,623
04JIAH22RSES 0 4,623 £4,623
O2r=sY 22lAPY i 0 4,177 A4ATT
O4th 282 0%t 0 446 A 446
201 Yot | 0 2,764 ~2,764
01 Ak 22l 0 738 A738
O2r=sY 223 72,0002 72 810 A738
02 =224l 0 2,026 22,026
O2r=sY A2 374,000 374 2,400 ~2,026
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2M K39
HH: HH2IHH(F2H)(OIEH/DIE
el Jl23dl 9 )
2N -3 -2 (SH) - NHEMY - BES Z
== 619,896 616,896 3,000
HY2HZH (S2)(IIEHIIE) 81,221 78,221 3,000
Jl2&dl 81,221 78,221 3,000
Jl= 3 81,221 78,221 3,000
201 Let24E] 50,397 47,397 3,000
02 2324l 34,438 31,438 3,000
O Xt & Byl 11,000 8,000 3,000
—2E3EE 6,500,000 *1CH 6,500 4,500 2,000
—S5E SN 4,500,000 = 1CH 4,500 3,500 1,000




